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Study on heat storage cycle system using chemical reaction
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Abstract
The possibility of chemical heat storage and heat transport system and the actual proof of the introductory
effect were tried by the simulation and container model experiment in various heat sources for the purpose of
developing the chemical heat storage and the heat transport system. In chemical heat storage, although the
heat storage amount per container is not so big, the heat of evaporation/condensation also can be used. Since
there is newly no necessity for heat pump introduction at a supplying district and generation of cold heat was
also performed, it turned out that the big effect is acquired from an environmental side (carbon-dioxide
emissions) and a cost side in the process from heat storage to heat supply by using a chemical heat storage
container.
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